F2009 Exam 3 Solutions

1-1)B

1-2)A

1-3)D

1-4)C

1-5)D

1-6)D

2(a) vy =3.187 v, =-396.82%
2 (b) Ax=0.318m

2 (c) F=31872.5N

2(d) V'=1.597%

2 (e) Ax=0.145m

3(a) X4y, =09m vy =0.064m

3(b) X, =1.2m y,, =0.237m

3(c) V,, =157 V. =2.5987 6, =0

4(a) X, =—0.384m 'y, =0m
4 (b) | =4700kgm?

4 (c) o =0.383r%/,

4(d) o' =0.319729/,

4 (e) At=63.75s
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1-1)C

1-2)A

1-3)B

1-4)32i —8] — 4k

1-5) (1,1.5)

2(a) v, =15.33%

2(b) v, =-13.836" v, =9.5%

2(c) h, =9.76m

3(a) | =1584kgm?

3 (b) L =900%"/k

3(c) I'=1593kgm®

3(d) @ =0.565r9
T,-m,g=m,a

4(b) RT, —RT, =l
mgg—T; =mga

4(c) a=0.74m/,

4 (d) t=3.677s




